Aaun'cm (92,0}1 . o/Lz z;o/as

/) Avaliyviope 20

09 z/ch/a; 10°C /,5 500‘3 v&.uag; \C Mot
Sivad N fo’l/wty /.ouf,acyu o /'/)fza/og ; L x T = 35C)

Mitﬂ)(:)i.\/ C‘; = C A"ZI o ”f;c’/\{f-f‘{ﬂfi /
Mg = 004 02=45C : {

ad “y - /,i £ \‘ > s
Mty = 7 04 Oy = /l‘-.i,{g = M2 C2-G) ( =

“ i
S —>
Lvz-0r/ '
= W O -G = Maoa- Pty => YOt W2or S Wit Prads, =2
. . » v e " i a NGyt 15 o:J . — R
= U’T(“’/n‘ﬂlz = Wbt Minln = G = - Wy 4 — =207 Do C
VTV

2) /oc‘o u&d ng/«oafaawzé /? < uas ﬁvc'v acw/; 9&{./0(//}&;0(.4; SOC f/{ﬁé/ .
VX o(vo(/.z fcm P 7/‘( Vex Qw(&u//f 30({5 Uc,,ﬁu; &(},acz;cac%vg_ 3s C

”A’ "»)//T 4) ’P/ /"f j1‘*)

~——

74
Wi 18 = W, 48 !

— ./‘r “—:"
Mtz = 50 ‘

=

3) (9&,)//.&:/ 2:“/00 IIE,O:E)(& ,?/04 u{qro> @z[,/zou/»dﬂuzg i1,3°C. //PO(TJ(/OJ/a&
/JI’SD Utuuos @ff/ma/sac’)ag SI,SJC Uy n gﬁolboc(fucﬂcx 200 ¢ ’Uuﬂ'/«d/&&
54%10(1 2,7°C. //0@7 Evoy n 94();/02(40/)77&(,(0“7/@1 2ou Q}.H./w/ &}Dad

14 \
'\_, “//x»x,!(“ \) cad
M =205 G, <4,3°C

1,5 C A£G, = mc(F; ,g//
9 @27 3] ¢ AQy =1k < (G- or/ i ==K =

b °C A=k (6r-6,) |
=Wa G

g

i



/

4) Nd EU/JZ‘%; *7{0.?04" Of{(/(,’/ 6/5”})0(// /«*J,iué)(g;b/ Lo a'/())//j/u‘/ (ajou/[_//l//oc/)
Exouv THY (})Cac é)z;c/;o/wm vewmTee f& 14 Sogos. O cbiue,
(%Z;Fém,-g; (c) oHou ©of /72/&06747‘&5 (F) CuN cz‘pM‘[/)w ’%}/w;/ /»[ 7N e

Eivol ! |

yﬁﬁi‘i—-— c [—614/-3"- Z')'mal_lj P [3-0‘7-3_] V [en’ ]
k| 012 %S {11
P | 003t {1, 4 293¢

A | 22 97 185




